NOIP #l 7§
Syah, September 22, 2017

Problem 1. alien

Input file: alien.in
Output file: alien.out
Time limit: 1s
Memory limit: 128M

INY BRSO E X3 BERINEANRRYT . A2 B, B0 A2 FHE IR
PP AR A~ B ER B JE IR BVGRRY . PR ERY AR AGEE T VX HR TR Sttt A
(R 44 Al — Bk, AREAEMA T E TR, R A SR ERESE , AR AR A B fERE 0, A Y
W 1, SEREJR IR BRI (R Xor $:4F)

Bln, P AR Z552 19 F1010, AT AGHEZ 25

XA EIRMERIX ATHER): A ZEER /N Y @SB ik i Bix~ME.
Input

NS — AT DB N, FORXM 2B IS,

FENRE N AT, ST IEREE. RN ERNES.

Output
B A SO AT L, SRR IXA EBRIAE
Example
alien.in alien.out
2 25
19
10
3 12
7
3
5
5 84
9
13
1
9
6
Scoring

o X 40% HyEHE. N < 5000,
o X 70% WIEGE. N < 100000,
o X 100% FOEE, N <106, 494 fm KAk 4 /M T 100,
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Problem 2. polyline

Input file: polyline.in
Output file: polyline.out
Time limit: 1s

Memory limit: 128M

A TAEOT T ARG

irx+b, WWki-x4+b = 0:;

yilx) = ,
(), if ki -x+ b < 0.

XL n AEEL y1(x), o yn (@) B TAERE ¢ R s(z) = yi(z) + ... +yn(z), RES LI s(x) 1Y
B B2 B il. stk n DL RIS 2 s(x) BRAET 180 FEI AN 4.
Input

AT B n, FoRREIINEL

BRR n A7, BTSSRI RS ki, by, KR5S « DEREINSEL

Output

Bt — AT — AL TR R 2 BRI R TR ASET 180 LA HY L
Example

polyline.in polyline.out

1 1

10

3 2

10

02

-11

3 3

-2 -4

17

-5 1
Scoring

o XF 30% HUEHE, n < 3000,
o X 100% FOEGE, 1 <n <10°,-10° < k;, b; < 107
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Problem 3. roadwork

Input file: roadwork.in
Output file: roadwork.out
Time limit: 1s

Memory limit: 512M

WA —FRADNFEE, WIS AE TR, (EENZIE EHEEA NI, fE2EE A
[, W7 AR ERT— W 2e L% 3 PR A RE_LEE, ATLAMERS 96, AREM 4, D AR5
A HBZEEEER A4, BEFREHEE BT (ARSI AE R D .

Input
AT M n, RERA n W, EIRREDY ¢ 7
N AT, IBEE, TR oo PN o T

c="BE"s ‘W E 1, a [RFEREN T (7)), r RERADLZHIE (B, FEEIE - a), #%2R)5F
25y, a AR PAZSRI A o v o

Output
B — 17— R, RERDRIENEL

Example

roadwork.in roadwork.out
8 3 0
W 10 0O
W 10 3
E 17 4

100 5 1
W 0 200
W 5 201
E 95 1111
E 9 1
E 95 11

Scoring
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-

i1

-,

1 2

n <= 100

n <= 100, t=6

t=4

t=5

t=7

0| ||o || |||~ |FE

—
o

t=6

o X 100% H9EHE, 4 <t <180,1 <n <250,0 <a < 86400,0 < r < 3600
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